Day 2 - T Accounts (after).notebook October 12, 2017

Chapter 3
USING ACCOUNTS

In Chapter 1 and 2 we looked at several business transactions

Ex. 1 When a customer paid cash fo repay a debt o a business
Asset-Cash 1
Asset-Accounts Receivable
both on the left side of the accounting equation
Ex. 2 When a business paid cash for a debt - eliminating the claim of «
creditor
Asse’r—CashI on the left side of the accounting equation
Liability-Accounts PayableI on the right side of the accounting
equation
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In a normal business day a business may be involved in hundreds or
even thousands of transactions involving cash.

To find the balance of cash at the end of the day would you:

1.) record the increase and decreases in cash directly in one equation
2.)prepare hundreds or even thousands of separate accounting
equations

3.) prepare a new balance sheet after each change in cash?
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All of these methods are inefficient. A new device is needed to
record changes to the items in the accounting equation.

Account - a device used for recording the effects of transactions
under one ftitle.
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Topic 1 - Establishing Accounts

Assets = Liabilities + OE
l Account Title l
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T Accounfo/ wually T lorgest

Cash L Bank Loan Payable J. Emery, Capital

you would use a separate account for each
asset and liability, and for each part of
owner's equity.
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In the language of accounting, the left
side of every account is known as the
debit (DR.) side and the right side is
known as the credit (CR.) side

Account Title

Debit (DR.) CREDIT (CR.)
Side Side

(left side) (right side)
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Opening Accounts

Do you see any relationship between the position of each elemen
in the accounting equation and the position of the dollar amount
the T-account?

Assels = Libilities + Owner's Equily
Office Bank Loan Accounts J. Emery,
ssh Avutomaobile Furniture Equipment Payable Payable Capital
000 +  $15000 + $8000 + $7000 - $20000 + $10000 + $60 000
3 : : Office Bank Loan Accounts J. Emery,
i Automobile Furniture Equipment Payable Payable Capital
& 15 OOOI 8 000[ Ml EO 000 [IO 000 léO 000
: r — = = — _ _—
[E—————— /) S—p——
‘\SSQk Ces f& G &Qh f\' \xh‘\@ Ll a\) ( ‘ \'\ s oe

Cotry o Credil mr?}r&
ol e Credt
R

These entries are called opening balances
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Assets are on the left side of the accounting equation
-all assets will show their beginning balances on theleft side (Dr)

Where would you locate the opening balances for liabilities and
owner's equity, subelement Capital? (\C)\r\Jf sue CCr)
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Positions of Opening Balances

Rule for Opening Balances
An account is opened by placing its beginning amount, called an
opening balance, on the same side that the account appears in the

accounting equation
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Obenina Accounts for a Business

1. Emery Real Estate
Balance Sheet
as at September 30, 19 —

October 12, 2017

Chapter 3  Using Accounts

77

ASSETS LIABILITIES
Cashiliicn . ohbt O $60 000.00 Bank Loan Payable ..................... $20 000.00
Automobile? 2 ustinid. slnanu 15 000.00 Accounts Payable:

EUmiiie & 0os o b o 8 000.00 Bell Furniture Co. ... $3 000.00
Office Equipment .......ccocccccevunen. 7 000.00 Ryan Equipment Co. 2 000.00
Westown Motors Lid. _ 5 000.00 10 000.00
Total Liabilities ..oovvvvvrennen. $30 000.00
OWNER'S EQUITY
I EmerysCapiial. =5l _60 000.00
Total Liabilities and
TolalpNssetstteaiseeninnts o $90 000.00 @wner's EqUityLis ot ik $90 000.00
Cash Bank Loan Payable
o— 19—
Sept. 30/ 60 000 Sept. 30/20 000
Automobile Accty, Pay./Bell Furniture Co.

19—
Sept. 30 15 000

Furniture

/

|
Short for Accounts Payable

Accts. Pay./Ryan Equipment Co.

19—
Sept. 30 3 00(

notice a
separate
account is
opened for
each creditor

19—
Sept. 30 8 000

Office Equipment

Accts. Pay./We

19—
Sept. 30 2 000

stown Motors Ltd.

19—
Sept. 30 7 000

Rec.

When the business has customers, a separate
account is opened for each one.
The short form of Accounts Receivable is Accts.

19—
Sept. 30 5000

J. Emery, Capital

Why is
there no
account

19—
Sept. 30 60 000

Dollar signs are not required - T Accounts are not formal reports

ASSETS $20 000

LIABILITIES $30 000

+ OWNER'S EQ

UITY $60 000

called
Owner's
Equity ?

10
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Assets

Liabilities

Left

Right

DR

CR

October 12, 2017
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OPENING LEDGER
- when accounts have been opened for all assets, liabilities and the
owner's equity, the entire group of accounts forms the ledger.

LEDGER: a file or group of accounts
There are many different types and forms of ledgers but for now we

will think of a ledger as "a group of T - accounts."

The equation in the ledger will always show that the total debits are
equal to the total credits %
See Summary of Ledger Account Balances - Page 78

12
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SA “P - l\((o\'&
%:fm\s f&“e‘j ﬁ - LaOE
Cadn  Yoooo
Land o000 Resets (U accomnd s)
%@\\)iv\j 35000
Nan 500
B\'\k Loan 30000
Necounls f\)ajq\)\al- L\c\x‘)\\-\jﬂ{s G o\ccow\\S)
WR\Wr\‘ \O&D

So\;(:)s \5000
B Geler Co‘x\z‘\ ©5000 - Ot Cl a(c@m?)

CasH Dank, LoAN
One 0000 30000 Dy
LAaND AR \Watmagt
(0000 10000
DoipiNg AP Screds
5 600 15 oo
Van) CF@\TPIL
56 o0
Total DERITS = TomaL REOVTS
$ 110 600 - $ 10 0
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Questions from homework

October 12, 2017

14
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-1
D Seskakasin Corden ﬂ\ml nance CW:\J

f' s o ‘ G Rl 4 1.:'-..""':"-‘.“,‘5-“ Sk
19- 3 19--
Today's Dae 1000 Today's Date 52 Today's Date 124
Maintenance Equipment 3 Tk Office Equipment
19-- 19-- - 19.-
Today's Date gsml Today's Date 8 000 Today's Dt 900
Accounts Payable/ Accounts Payable/
Bank Loan Payable Guthrie Home Hardware Lid. P & P Equipment Supplies, Inc.
19-- 19-- 19--
Today's Die & 500 Todsy's Due 1000 /nﬂmm 2000
Mongage Payable
19—
\Tﬁq‘:ﬂm 130000

15
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Finish problem 3-3

October 12, 2017
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7-3

o)

October 12, 2017

Assets Qrones = Liabilities C +  OE

coon | S| oo | gad, [| e [ | mﬁo
1| \Som 5000 O \S 300
2 800 +R0 3000 OO
o |30l Yo | &
4 -0 -300 -50Q 0
5 a MO +0b00 000
JEME +340 =540 | #5340
mshggqa g0 420 % @0| 1o [ S840 19340 15000

Y3l = 14340 + 1500

17
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October 12, 2017

P 3-3c

Computer Equipment ..........cccceeevuenne
Computer SOffwWare ........ccoccvevevvenrevns

TERL AR e e

Peter's Programming Service
Opening Balance Sheet
as at April 12, 19--

$15 240
14 800
4 300

LIABILITIES

Bank Loan Payable .........cccccoeeveevnennnen.
Accounts Payable:

Larry's Computer Store ........

Manleysilind 5 5840

Total Liabilities: = oo . o

OWNER'S EQUITY
P. Ramlagen, Capital

Total Liabilities and Owner's Equity ......

18
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P 3-3d
Cash Computer Equipment Computer Software
19-- 19-- 19--
Apr. 12 , 15240 Apr. 12 14 800 Apr. 12 4300
® ' Accounts Payable/ Accounts Payable/
Bank LLoan Payable Larry's Computer Store Manley's Ltd.
19-- 19-- 19--
Apr. 12 6 000 Apr. 12 7500 Apr. 12 5840

P. Ramlagen, Capital

19--

Apr. 12 15000
P 3-3e ;

Peter's Programming Service
Summary of Ledger Account Balances
as at April 12, 19--
TOTAL DEBIT (LEFT) BALANCES TOTAL CREDIT (RIGHT) BALANCES
@ashi e e $15 240 Bank Loan Payable ..........cccocoeiviverenenns $ 6000
Computer Equipment................cccovenns.. 14 800 Accts. Pay./Larry's Computer Store ....... 7500
Computer Software...........cccoeeeeenieninns 4 300 Accts. Pay./Manley's Ltd. .......cocceveen 5 840
P. Ramlagen, Capital ...........ccocevvvmrreninene 15 000

fliotal Bebitsic oo o e $34 340 TotadlCredits: . $34 340
fliotal Assets il s $34340 = Total Liabilities + Owner's Equity.......... $34 340

The totals prove that the total of the debit balances equals the total of the credit balances. In other words, the
accounting equation within the ledger balances.

57
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KEY FOR TOPIC 1 MINI-CASES

MC 3-1a
No. Julian understands that the term debit means Ieft and that the term credit means right. But, he is applying
the terminology incorrectly. Using the rule that he has stated, Julian will not be successful in recording business

transactions at least half of the time.

MC 3-1b
The term debit in accounting means left or an entry placed on the left side of an account. The term credit in

accounting means right or an entry placed on the right side of an account.

MC 3-1c¢
A transaction that will work for Julian would be as follows: The firm bought office supplies on account. The

entry for this transaction would be debit Office Supplies and credit Accounts Payable.

MC 3-1d
A transaction that will not work for Julian would be as follows: Suppose the firm paid an outstanding liability

in full by cheque. The entry for this transaction would be debit Accounts Payable and credit Cash.

MC 3-2a :
Thisis a good start since Wolfhasidentified two of the three elements of the accounting equation in his records.
Unfortunately, Wolf has not identified his personal investment into the business. In terms of the accounting
equation A = L + OE, Wolf will not be able to balance the equation because of the missing component.

MC 3-2b
Wolf has not included his personal investment into the business. The accounting element that is missing is

owner's equity and the specific account is Capital.

MC 3-2¢ ‘ A = L + OE
Bank Loan W. Moritz,
Cash Tools Payable Capital
(a) $500 (a) $1 500 = (a) $2 000
(b) $300 = (b) $300

Itis important that Wolfunderstand that the dollar amount of each transaction be identified and recorded. What
Wolf failed to identify was the second half of his personal investment into the business. By referring to the
labelled T-accounts, you could show Wolf the resulting entries from the two transactions that occurred as he
began his business. Transaction (a) involved three accounts. These included an increase in the asset Cash, an
increase in the asset Tools, and finally an increase in his owner's equity Capital account, Transaction (b)
involved two accounts, both of which he identified. These included an increase to the asset Cash, and an
increase to the liability Bank Loan Payable. Wolfis on the right track, buthe isnot illustrating an understanding
of the double-entry system.

MC 3-3a
No. Margaret is not correct. Eight accounts are enough to make up a ledger. %

MC 3-3b
Aledgeris the collection and the classification of all of the accounts of abusiness. The ledger could be as simple

as a loose leaf book in a manual system, or as sophisticated as the computer disk resulting from the use of a
computer accounting program.
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